ANSWER KEY FOR EUROPE UNIT TEST

MATCHING:

1.  B - Martin Luther

2.  K – Johann Gutenberg

3.  E – Johann Tetzel

4.  C – Charlemagne

5.  I – King Ferdinand

6.  A – Leonardo DaVinci

MULTIPLE CHOICE:

7.  B – Seine

8.  D – Vistula

9.  A – Budapest

10. B – fjord

11. C – Albania & Macedonia

12. A – Eastern

13. B – poor sanitation

14. C – each peninsula has developed its own agricultural specialty

15. C – a more unified and stronger economic system

16. B – ancient Greece

17. D – Mediterranean Sea

FILL IN THE BLANK:

18. feudalism

19. parliament

20 Scandinavian

21. aqueduct.

MAPS:

Selections may vary. The teacher making the test can select the locations that they would like to include on the test.

EXTENDED RESPONSE:

41-45. The countries were able to produce large quantities of food to feed people and to trade.  This made their economies prosper.  However, the open, flat land was a natural invasion route, and invasions and wars would have disrupted their economies and societies.  

46-50. Farming is probably not important to the economy because of cold weather, short growing seasons, poor soil and terrain that is difficult to farm.  Fishing would be important because of the nearness of oceans and seas. 

 Tourism might be important because of the scenery and history of the region.  

Activities such a sailing, mountain climbing, skiing and various winter sports might be popular.

Housing must be sturdy and well insulated.

Norwegians must need warm clothing for the winter and lighter clothing for other seasons, although probably not much tropical wear.

